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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt ‘ALL’ questions.
3.  Show your working notes clearly. _
4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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(a) Define the term Accounting Standard. State the fundamental assumptions of
AS-1. )

(b) X Ltd. commenced business on 1* January, 2008. On the same date, a Plant
costing Rs. 3,50,000 was purchased. Depreciation was charged @ 15% p.a.
on diminishing balance basis and charging full year’s depreciation on additions.
Over the years following additions were made :
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(a)

(b)

2
On 1-8-2009 Rs. 75,000
On 30-9-2012 Rs. 1,00,000
On 1-1-2012, it was decided to change the method and the rate of
depreciation to 10% on straight line basis with retrospective effect

from 1-1-2008, the adjustment being made in the account for the year
ending 31* December, 2012.

Prepare Plant account for the year 2012 only. (10)
OR

What is Accounting Equation ? Explain the Dual Aspect Concept of
Accounting, (5)

A company started its business on 1 January, 2013, It purchased and used
raw material upto 30" June, 2013 as shown below:

January 10 | 800 kgs @ Rs. 62 per kg.
February 28 1,200 kgs @ Rs. 57 per kg.
March 10 Issued 1,000 kgs.

March 26 Issued 500 Kgs.

May 20 900 kgs @ Rs. 65 per kg.
June 28 Issued 600 kgs.’

June 30 Loss by fire 100 kg.

Find -out the value of stock as on 30th June, 2013 if the company
follows perpetual inventory method on FIFO basis and on LIFO
basis. ' (10)
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2.

4

The following Trial Balance was extracted from the books of Mr. A as on 31st

March 2013 : (15)
Particulars Rs. | Particulars Rs.
Plant & Machinery 78,000 | Capital 1,00,000
Furniture 2,000 | Sales 1,27,000
Purchases 60,000 | Retumns 750
Returns 1,000 | Discount 800
Opening stock 30,000 | Provision for Bad debts 525
Discount 425 | Sundry creditors 25,000
Sundry debtors 45,000
Salaries 7,550
Manufacturing wages 10,000
Carriage outward 1,200
Rent, Rates & Taxes 10,000
Advertisement 2,000
Cash 6,900

2,54,075 2,54,075

Prepare Trading and Profit and Loss Account for the year ended 31st March

2013 and a Balance Sheet as on that date after taking into consideration the

following adjustments :

(i) Closing Stock was valued at Rs. 8,000 and the approval was not received
before the end of the month Rs. 34,220.

(ii) Provision for Bad debts is to be kept at Rs. 500." -

(iii) Allow interest on capital at 10% p.a.
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(iv) Goods worth Rs. 7,000 were sent on 25.3.2013 as “Sale on Approval Basis’

for Rs. 8,000 and the approval was not received before the end of the

month.
{v) Depreciate Plant and Machinery and Furniture by 10%.

(vi) The proprietor Mr. A has taken goods worth Rs. 5,000 for personal use and
distributed goods worth Rs. 1,000 as samples.

OR

Following is the Balance Sheet as on 31 March 2013 of a firm, having three

partners A, B and C sharing pi:afits and losses equally. (15)
Liabilities | Rs. | Assets : Rs.
Sundry Creditors 2,00,000 | Cash 31,200
Loan (Secured by Furniture) 1,00,000 | Stock 1,56,300
Capital A/Cs : Debtors 47,200
A ‘ 80,0600 | Fumiture 95,300
B 60,000 | Profit & Loss A/c 1,20,000
C 1-0,000
4,50,000 4,50,000

The firm was dissolved due to insolvency of all partners. Stock was sold for
Rs. 99,000, while Furniture fetched Rs. 50,000. Rs. 41,000 were received from
Debtors. Realisation expenses totalled Rs. 2,200. Nothing could be recovered
from B & C, but Rs. 6,000 could be collected from A’s private estate.

Preparé necessary accounts to close the books of accounts.
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3.

X of Mumbai consigned 1,000 barrels of lubricant oil costing Rs. 1,200 per
barrel to Y of Delhi. X paid Rs. 60,000 as freight and Rs. 12,000 as insurance.
50 barrels of oil was destroyed in-transit. The insurance claim was settled at
Rs. 25,000 and was paid directly to consignor. Y took delivery of consignment
and accepted a biil for Rs. 5,00,000 for three months. An account sale was
received and the following was reported by the consignee.

(i) 750 barrels of oil was sold @ Rs. 1,750 per barrel.

(1) Other expenses were :

Clearing Charges Rs. 13,800, Godown Rent Rs. 15,000, Wages Rs. 35,000,
Selling and Administrative Expenses Rs. 25,000,

(ii) 20 barrels of oil was lost due to leakage which is considered to be normal.

Y is entitled to a commission of 5% on gross sales. The balance due to consignor
was sent by bank draft.

Prepare Consignment A/c and Y’s A/c in the books of X. (15)
OR

X and Y entered into Joint Venture for buying and selling condemned railway
materials. The profit or loss was to be shared in fee ratio of 2:3.

In an auction material worth Rs. 7,50,000 was purchased by X and paid
Rs. 50,000 for freight and unloading expenses. X drew a bill on Y at a two
months demand for Rs. 5,00,000. The bill was discounted for Rs, 4,97,500.

Other transactions relating to Joint Venture were as follows :
(1) Y purchased material costing Rs. 3,50,000.

(i) X paid Rs. 7,500 for carriage-outward Rs. 12,500 as commission and
Rs. 5,000 as travelling expenses.

(iii) Y paid godown rent Rs. 45,000 and other sundry expenses Rs. 6,750.

(iv) Sales effected by X amounted to Rs. 8,15,000 whereas Y sold goods for
Rs. 5,85,000. '
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Goods costing Rs. 10,000 and Rs. 15,000 were retained by X and Y respectively
and these were charged to them at a price so as to show the same rate of gross
profit as is made on the sales. X was credited with a sum of Rs. 15,000 to cover
the cost of warehousing and insurance.

Prepare Joint Venture A/c and X’s A/c in the books of Y showing final
settlement. ‘ (15)
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4. Goods were sent by Head Office to Aligarh Branch at selling price, being cost
plus 25%. From the following particulars prepare, Branch Stock A/c, Branch
Debtors A/c, Branch Adjustment A/c and Branch Profit and Loss A/c.

Rs.

Goods sold by Branch (at cost) 9,35,000
Cash Sales 2,55,000
Credit Sales ?
Branch Expenses paid by Head Office :

Salaries 51 ,QOO

Rent 20,400

Other Expenses - 13,600
Shrinkage at cost (Normal) 10,000
Opening stock at Branch at cost 85,000
Branch Debtors in the beginning 1,19,000
Closing Stock at Branch at cost 1,27,500
Branch Debtors at the end . 1,61,500
Bad debts at Branch 3,750 s

- OR
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On 1% January 2010, A Ltd. sold three Cars for a total cash price of Rs. 6,00,000
on Hire-Purchase basis to B. The terms of agreement provided for Rs. 1,20,000
as down payment and the balance of cash price in three equal instalments together
with interest at 12% per annum, calculated at yearly rest. The instalments were
payable on the following dates :

First Instalment On 31-12-2011
Second Instalment On 31-12-2012
Third Instalment On 31-12-2013

B paid two instalments on time but could not pay the third instalment. As a
consequence A Ltd. repossessed the two Cars and valued them at 60%-of the
cash price paid. A Ltd. got these Cars repaired for Rs. 24,000 and sold one Car
for Rs. 1,25,000.

B charged depreciation at 15% per annum on Diminishing Balance Method.

Prepare B’s A/c and Cars A/c in the books of A Ltd. and A Ltd.’s A/c in the
books of B. (15)

eI Faied W1 SeiNIg ARGl &t ST 25%%ﬁémyiwqtmﬁmﬂml 3
et Rl A TR Wi @, TR 2R @11, TG SHae @ i T a1 - st
A R BT

€

o B A T | (AR W) 9,35,000
Je R 2,55,000
Jur i ?
WU FEe B YA Y R wrer =

ERit 51,000

faum 20,400

= 13,600
AN gFeT (SN W) 10,000
W @ W WRRE Wi (WP W) 85,000
TR A W F AR 1,19,000
T R UE W iR (G W) 1,27,500
g ¥ WE D AR 1,61,500
WRA D WA 3,750
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5. Attempt any three of the following :
(a) What do you understand by Auditing ? State its objectives.
(b) Distinguish between Accounting and Auditing.
(c) “Vouching is the essence of Auditing.” Exp!lain.
(d) Audit procedure to verify the long term investments ?

(¢) Verification supplements Vouching. Comment. | (5x3)
e & ¥ = i\ @ s AR
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